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Group-A

(Multiple Choice Type Question
Choose the correct alternative JSrom the Jollowing : )

(1) Find out the wrong statement

a) The massive scale of cloud computing syste

ms was enabled by the popularization of the
Internet

¢) Cloud computing makes the long-held dream
of utility computing possible with a pay-as-y
ou-go, infinitely scalable, universally availab
le system

1 x 60=60

b) Soft computing represents a real paradigm s

hift in the way in which systems are deploye
d

d)

All of the mentioned

(2) Choose the following was one of the top 5 cloud applications in 2021

a) Cloud backup
¢) Business applications
(3) Choose the wrong statement

a) All applications benefit from deployment in t
he cloud

¢) Cloud computing is revolutionary, even if th
e technology it is built on is evolutionary

(4) Choose the correct statement

a) Google’s cloud includes perhaps some 10 dat
a centers worldwide

c) Data centers have been sited to optimize the
overall system latency
(5) Which of the following is wrong statement
a) Internet consumes roughly 1 percent of the

b) Web applications
d) All of the mentioned

b) With cloud computing, you can start very sm
all and become big very fast

d) None of the mentioned

b) Flipkart.com’s infrastructure was built to sup
port elastic demand so the system could acco
mmodate peak traffic

d) All of the mentioned

b) The cost advantages of cloud computing hav
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world's total power

¢) A clj .
) ;:h;t:":. Can provision computer resources w
b the need for interaction with cloud ser
10e provider personnel

(6) Find out the correct statement

a
: R‘(‘: ;lse of the word “cloud" makes referenc
¢ IWO essential concepts

¢) Cloud com uting i '
—— puting is nothing more than the In

(7) Which one js wrong statement

a) g::;ud Computing has two distinct sets of mo

c
) :Lzure enables .NET Framework applications
O run over the Internet
(8) Select the correct statement
a) Jumpl.t is an open-source virtual appliance in
stallation and management service

¢) Nearly all major virtualization platform vend
OrS support OVF, notably VMware, Microsof

¢ enabled new software vendors 1, Creae
oductivity applications Pr

d)
None of the mentioned

b) Cloud computing abstracts systems by poo;
ng and sharing resources '

d) All of the mentioned

b) Amazon has built a worldwide network of 4
atacenters to service its search engine

d) None of the mentioned

b) Converting a virtual appliance from one plat
form to another is easy proposition

d)
All of the mentioned

t, Oracle, and Citrix

(9) Which offering provides the tools and development environment to deploy applications
on another cloud provider application

a) Platform as a Service
c) Containers as a Service
(10) Determine the wrong statement

b) Infrastructure as a Service
d) All of the mentioned

b) A system uses resources to satisfy cloud co
mputing demands that include processor, me
mory, storage, and network capacity

a
) Network capacity is one of the easiest factor
s to determine

c) Scaling a system can be done by scaling up v
ertically to more powerful systems

(11) Amazon Web Services offers a classic Service Oriented Architecture (SOA) approach t
o which of the following
a) [aaS b) SaaS
c) PaaS d) All of the mentioned
(12) Which of the following allows you to create instances of the MySQL database to suppo
rt your Web site’s
a) Amazon Elastic Compute Cloud
c¢) Amazon Relational Database Service
(13) Which of the following is a structured data store that supports indexing and data querie
s to both EC2 and S3
a) CloudWatch b) Amazon SimpleDB
¢) Amazon Cloudfront d) All of the mentioned
(14) Which of the following is a billing and account management service

a) Amazon Elastic MapReduce b) Amazon Mechanical Turk
¢) Amazon DevPay d) Multi-Factor Authentication

d) All of the mentioned

b) Amazon Simple Queue Service
d) Amazon Simple Storage System



(15) Which of the following is built on top of a Hadoop framework using the Elastic Compu

te Cloud
) Amazon Elastic MapReduce b) Amazon Mechanical Turk
¢) Amazon DevPay d) Multi-Factor Authentication

(16) Which of the following algorithms is used by Google to determine the importance of a
particular page

a) SVD b) PageRank
¢) FastMap d) All of the mentioned
(17) Which of the following is a storage data interchange interface for stored data objects
a) OCC b) OCCI
¢) OCMI d) All of the mentioned
(18) How many EC2 service zones or regions exist
a) | b) 2
¢)3 d) 4
(19) Which of the following system does not provision storage to most users
a) PaaS b) [aaS
c¢) CaaS d) SaaS
(20) How many categories of storage devices broadly exist in cloud
a) l b) 2
c)3 d) None of the mentioned
(21) Which of the following impose additional overhead on clients and offer faster transfer
a) Block storage b) File Storage
c) File Server d) All of the mentioned
(22) Which of the following is not a first level cloud service attribute
a) Applications b) Infrastructure
c) Core Services d) None of the mentioned

(23) An application that provides for transaction overflow in a reservation system is an exa
mple of which of the following

a) Cloud servicing b) Cloud bursting

¢) Cloud provisioning d) All of the mentioned
(24) Which of the following is not a second level cloud attributes

a) Applications b) Infrastructure

¢) Database

(25) Which of the following cloud stora
plications built using Web services

a) Managed

d) Storage
ge is mainly meant for developers and to support ap

b) Unmanaged
¢) Disk d) All of the mentioned
(26) Which of the following is the form of unmanaged cloud storage
a) XDrive b) OmniDrive
¢) iDrive d) All of the mentioned
(27) Which of the following is an example of an unmanaged storage utility set up to do auto
mated backups
a) XDrive

b) OmniDrive



d) All of the mentioned
¢) FreeDrive

(l—

b) Antivirus utility

" er utilit
a) File transfer utility d) None of the mentioned

¢) Online image utility

9) Which of the following file transfer utility creates a shared folder metaphor using a W,
(2

ice
y scrvtl:)x b) Skype
i gmp d) All of the mentioned
¢) Dnve ‘ .
30) Which of the following offers Storage size of 10GB free to 100 GB paid

5 ) Adrive b) 4shared

a) Badongo d) All of the mentioned

c . .
(31) How many types of security boundary values exist in Cloud Cube model

a) | b) 2

c)3 d) None of the mentioned
(32) Which of the following is one of the unique attributes of Cloud Computing

a) Utility type of delivery b) Elasticity |

c) Low barrier to entry d) All of the mentioned
(33) Applications that work with cloud computing that have low margins and usually low rj

sk are called

a) High touch b) Low touch

¢) Moderate touch ' d) All of the mentioned
(34) A service that concentrates on hardware follows which of the following Service models

a) [aaS b) CaaS

c) PaaS d) All of the mentioned

(35) When you add a software stack, such as an operating system and applications to the ser
vice, the model shifts to which model

a) SaaS b) PaaS
¢) laaS d) All of the mentioned
(36) Which of the following is the most refined and restrictive service model
a) [aaS b) CaaS
c) PaaS d) All of the mentioned
(37) Which one is a pay-as-you-go model matches resources to need on an ongoing basis
a) Utility b) Elasticity
¢) Low barrier to entry d) All of the mentioned

(38) Which of the following features allows us to o
ble transactions

a) Scalability
¢) Elasticity
(39) Which of the followin
ing applications
S s
a) cala.bz.llty b) Reliability
¢) Elasticity d) Utility

-passing taxonomy for a component-based

ptimize our system and capture all possi

b) Reliability
d) None of the mentioned
g enables batch processing, which greatly speeds up high-process

(40) Which of the following describes a message



architecture that provides services to clients upon demand

a) SOA b) EBS
¢) GEC d) All of the mentioned
(41) Which of the following is a repeatable task within a business process
a) Service b) Bus
¢) Methods d) All of the mentioned
(42) Which of the following is used to define the service component that performs the servi
ce
a) WSDL b) SCDL
¢) XML d) None of the mentioned
(43) Which of the following provides commands for defining logic using conditional statem
ents
a) XML b) WS-BPEL
c) JSON d) None of the mentioned
(44) Which of the following service has WebDAV as developer API
a) Adrive b) Drop.io
¢) Dropbox d) All of the mentioned
(45) Which of the following developer API is provided by FilesAnywhere service
a) FA b) CA
c) BA d) All of the mentioned
(46) How many types of methods are used to combine web services
a) b) 2
c)3 d) None of the mentioned
(47) Which of the following is not provided by “Deep Web”
a) Database generated Web pages b) Private or limited access Web pages
c) Pages without links d) All of the mentioned
(48) Dynamic content presented in Google crawling isn’t normally indexed
a) AJAX b) Java
c) Javascript d) All of the mentioned
(49) Which of the following google product sends you periodic email alerts based on your s
earch term
a) Alerts b) Blogger
c) Calendar d) All of the mentioned
(50) Which of the following is a payment processing system by Google
a) Paytm b) Checkout
¢) Code d) All of the mentioned
(51) Which of the following creates a custom search utility for a particular Web site
a) Desktop b) Directory
¢) Custom Search d) None of the mentioned
(52) Which of the following product searches Web by topics
a) Desktop b) Directory
¢) Custom Search d) None of the mentioned

(33) Which of the following is also referred to edge computing
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a) CloudWave
¢) CloudSpot
(54) Data stored in
a) SimpleDB o
¢) Oracle
(55) Point out the ¢

" - .
a) With PaaS, the goal is to create hosted scalab

le fPP[Iculions that are used in a Software as
a Service mode]

¢) In Wolf, the data
tconform to the

(56) Point out the co

orrect statement

and transaction managemen

business rules you create

Irect statement

a) Virtual machines
ess the scans

c) lnfrastructure, stora
m all come togethe
of cost and operati

(57) Point out the corre

are not provisioned to proc

8¢, and the queuing syste
I to eliminate a great deal
onal complexity

Ct statement

a)
Cloud Storage may be broadly categorized in
to four major classes of storage

c) !n Managed storage, the Storage service prov

ider makes storage capacity available to user
s

(58) Point out the wrong statement
a) Unmanaged storage is reliable

c) Mo§t of the user-based applications that wor
k with cloud Storage are of unmanaged type

(59) Point out the correct statement

a) Service Level Agreements (SLAs) is small a
spect of cloud computing

¢) Cloud computing presents new opportunities
to users and developers

60) Point out the wrong statement

a) A cloud is defined as the combination of the
infrastructure of a datacenter with the ability
to provision hardware and software

c) The Google App Engine follows IaaS

b) CloudFront

d) All of the mentioned

___domains doesn't require maintenance of a schema

b) SQL Server
d) RDS

b) Applications built using Paa$ tools need to b
e standards-based

d) All of the mentioned

b) Virtual machines are only stateless

d)
None of the mentioned

b) In unmanaged storage, the storage.servicc pr
ovider makes storage capacity available to u
sers

d)
All of the mentioned

b) Managed storage is relatively cheap to use

d) None of the mentioned

b) Cloud computing does not have impact on s
oftware licensing

d) All of the mentioned

b) High touch applications are best done on-pre
mises

d) None of the mentioned



